Part IV – Case 

At the end of 2003, Al Second, vice president of Chicago Syndicate, Inc., stared out the window of his posh west side office in dismay. His expectations for a highly profitable year were dashed. The disappointing results appear below:


[image: image1.emf]Actual Plan

Sales 611,000 $              750,000 $       

Direct Materials 108,000 $              125,000 $       

Direct Labor 230,400 $              250,000 $       

Variable OH 148,800 $              150,000 $       

Total Variable Cost 487,200 $              525,000 $       

Contribution Margin

123,800 $              225,000 $       

Fixed Costs 108,000 $              120,000 $       

Syndicate Profit 15,800 $                105,000 $       


Mr. Second realized that because sales were down, expenses should also fall, such that profit should be somewhat more than $15,800. His organization which made only one product (the identity of which cannot be disclosed), incorporated the following data into its plans.


STANDARD COST AND CONTRIBUTION MARGIN


Selling price






$15.00

    Direct Materials (2 quarts @ $1.25/qt)
$2.50

   
    Direct Labor (1 hour at $5/hour)

  5.00

 
    Variable overhead ($3.00/DLH)

  3.00

$10.50


Standard Contribution Margin



            $  4.50

The firm planned sales of 50,000 units but sold only 47,000 at an average of $13.00 per unit. 96,000 quarts of direct materials were bought and used. Direct labor hours were 48,000. Production was 47,000 units.

Compute the relevant material, labor and overhead variances that would explain why profit was so much lower than planned, and write a letter to Mr. Second explaining his plight. 
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		Chicago Syndicate, Inc.

		Profit - Production Variance and Analysis

		Income Statement		AQ x A$				SQ x S$

				Actual				Plan

		Sales		$   611,000				$   750,000		U

		Direct Materials		$   108,000				$   125,000		F

		Direct Labor		$   230,400				$   250,000		F

		Variable OH		$   148,800				$   150,000		F

		Total Variable Cost		$   487,200				$   525,000		F

		Contribution Margin		$   123,800				$   225,000		U

		Fixed Costs		$   108,000				$   120,000		F

		Syndicate Profit		$   15,800				$   105,000		U

		Standard Cost and Contribution Margin

				Amt./Unit				Production

		Selling Price						50,000

		Direct Materials		2		qt

		Direct Labor		1		hr

		Variable Overhead		1		hr

		Standard CM

		Actual Cost and Contribution Margin

				Amt./Unit

		Selling Price						units

		Direct Materials		- 0		qt		qts

		Direct Labor		- 0		hr		hrs

		Variable Overhead		0.00				hrs

		Contribution Margin

		Variances

		1) Sales Price Variance

		AQ(A$-S$)		$   - 0		U

		2) Direct Materials Price Variance

		AQ(A$-S$)		$   - 0		F

		3) Direct Labor Rate Variance

		AQ(A$-S$)		$   - 0		F

		4) Variable OH Rate Variance

		ActualVOH - (S$ x AQ)		$   - 0		U

		5) Fixed Selling Expense Variance

		This variance is not applicable, since there were no fixed selling expenses

		Fixed Expenses are combined in one line on the I/S

		6) Fixed Costs Variance

		ActualFC - BudgetedFC		$   - 0		F

		7) Direct Materials Efficiency Variance

		S$[AQ - (Aprod x SQ)]		$   - 0		U

		8) Direct Labor Efficiency Variance

		S$[AQ - (Aprod x SQ)]		$   - 0		U

		9) Variable OH Efficiency Variance

		(S$ x AQ)-(Aprod x S$ x SQ)		$   - 0		U

		10) Flexible Budget Variance		$   - 0		U

		11) Sales Volume Variance		$   - 0		U

		Lowering Prices by $2 severely hurt CM per unit and lower fixed costs couldn't cover it

		Didn't produce 3,000 units as budgeted
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